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cot x + - + =
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AvaAAL 2L 8. (WLR 2L M ‘[RAR 2 [ARdR A 2l 24l g d 2Uue [Ac1’L Guorel AlBid 24l 6.)

N - o L [ r N [ T
aofl, 2048l 1S Al 5, uaH ARML FH x, 0 Yl 5 afl dx sinx, 0@l 1 i a8, oflog A4 ¥ x, 3 Yl

. NN . Y o 37(' . NN . Y N =
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. 3n ® o L3 oSN - = = A Y
AIRIHL ¥ X, > ol 2 Hiaf dd sinx, —1 ¢l 0 4L a8 . 21 o Jd, 20uel sl Bistalflaxd [@Eul we ual

2l 53 Al viaord, 2w WA A sies © :

way AW (8llu 22w adla a0 ugdl A0
sin 0el 1088, 194l0ues. 0l —1826. —1:0a4 8.
cos 1408, 0l —1aed. |-1dl0ads. 0l 1a8 6.
tan 0l o a8 8. | —cotlOal®. |08l oo al 8, — ol 0988,
cot wlO0a2®. | 0ol -0t ®. wo?ll 082 8, 02l —oot2 8.
sec 1ol oo a8 8. | —codll —1a8 8| —1ell —ot2®.| ootllluze,
cosec ol 1828, | 1l o al 6. —ootfl —1a8 .| -1l —coue 8.

~ - . b = . - - =, I =
Alm o Buarll siwesyl 0 < X< M fan x, 0 ol oo (Mtrict) Yl a8l 8. Mald ¥3 0 < X<ooMe
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x AR AY fan x 4 4L Al O v FH x, 5 T Rad du ran x o Y 51855 L3l 2AR vl oA, 2L o d, 5€l

. N . . N . in . .
ASIY & cosec x < Hed dAlaUl AWM= 1 gl = oo (B2 irict) YHl 8 B, vl * € [7, 275)'112 cosec x <, H&

42 8 Al FH X, 2m A VA8 dY cosec x < Hed Ml AR BRL AL 6, Add oo A — oo B WIoL [AHY A
yafl Alssu s+l adejs suld 9.

2L 1S 2l 3 sin x A cos x +ll Budld udade 21 dons-l Hduani iy 8. 2, cosec x A

sec x (A4l Baudid w2t yauad- 2m dousHl 2iduaul a,

Y
oD LN OVT N N dan
—4x —3n —2n T _11'1_ T\_ n 'SR\j-)

2

Yf

y=sinx
»gla 3.8

y=cosx

Yf

y:tanx y=c0tx
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Y'
Yy = cosec x

2isld 3.12 sl 3.13
gdd, uglel [RewHl Ul NSy 5 tan (n+x)=anx. 2l, anx W2 Fudi yedd-
T AUl AUl Al WA cof x ¥ tan x| el Sleltell defl Badld yruddd uel noeous-
HcAul ud. 2izdl s x4 Brstaa RAL adeys usdl 2uuel 2 [ 2udm iRl aglai.

L [RQEULAL ALEA U BUR 2UE 6,

=

GEls2RL 6 ¢ %L x >l AL 1Y HU cos x = 5 dl 6uslel win Bustafilan QAL yell Al

Bia : ud], cosx:_?’?’.aruefl sec x=—=

ed, sin®x +cos?x=1,
M%Lrldq sin x=1—cos* x
1
sin’ x =1~ = 16
25 25
) 4
e, sinx=+ g

U x oAl AR S, AUl sinx o M B Sl

. 4 . 5
sinx=— — - d U, cosec x=— =
5 4
sinx 4 cos x 3
tanx—= = — Q,.l:{ cotx = - = —,
cosx 3 sin x 4

-

- _5 LI - . - - N e o
BelgmL 7 ¢ %l cot x= ot oflon 200 S, dl sl wid BstaElan ([@Qdaiql el sl

-5 . 12
4 t - — t - _
Gy cotx = — @, fan x 5
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¢d, sec’ x=1+tan’ x
144 169
=1+ — = —
25 25

wl, secx=+ %

uig x oflon AN B, Al sec x | e BEL A,

13 N 5
secx=—? ud d udYl, cosx = —

13
L s _(Z12) (222 12
qull, SInx=tan x- cos x 5 13 13
2 cosec x = I _B
sin x 12

-

. 31n -
Gews@L 8 : sin e AL

Bie: auugl el 8l 3 sinx «fl Budsd yrRiade 2n doisSe vida uedl aid 9. v,
31n ' T
sin — = sin] 101 + —)
3 3

. I
= sin —
3

BELS2BL 9 : cos (-1710°) o 3ex 2kl

Biet : 2wl wnellal ol § cos x il Bud Yuade 2 adl 360° dousSHL vidid ussl wy 8. e,

cos (-1710°) cos (=1710°+ 5 x 360°)

cos (-1710° + 1800°) = cos (90°) = 0

QuRy 3.2

ws 1ol 5 4l 2wy win BustaBilan [RAdnAL Hedl Ak,

1 .
1. cosx= Y x 2l AR 6.
. 3 i

2. sinx= 5’ x oflo AL O,
3 .
3. cotx= 7 x 2l AWML 9.
13 N -

4. secx= S X Al e 8.

5 C -
5. tan x = NTY x oflo ALAL 9.
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w6 9l 10 H Busteuilay [[AulH] yedl 2kl
6. sin 765° 7. cosec (=1410°)

ta 191 9 sin[ ll_n)
8. tan 3 9. 3

10. 2

B o\ vieus e 244 eugeudl 30 Bstaflda [@Qaal

2L [opordl vl o vis(veu)l Al 5 oneoitsl @3l Bslallan [RAAAL €Ul A duHl

Aot vMelsazil qadly. > usiql wadl wRewdid Bistafilas Mo sdad. siusl %1y 3,
1.sin (—x)=—sin x
2. cos (— x) = cos x
8L ¢d S2dls ay wReuHL AU s

3. cos (x+y) = cos x cos y —sin x sin y

Gaafolg 5 ¢la dof sH Aol @l WL 5 WeILPOP =x 21l Well POP, =y 8. 2uefl, el POP =x+y®.
A vell POP.=—y 8. 2uell, P, P, P, #i-l P, -l &x P, (cos x, sin x), P, (cos (x + ), sin (x + y)),

P3 (cos (—y), sin (—y)) ] P4 (1, 0) =y, (Ml%[?-l. 3.14)

L

N

P,(cosx, sinx)

Y X
V
P, (cos(x +y), sin(x +y))

P, (cos(—), sin(—y)) ~——] _/

)
)

— <

v
A%

215ld 3.14

BisiaL POP, 24 P,OP, -l (AR 530, d 253y ©. (3 ?)

wiell, PP, i PP, -t o,
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idR YA uel, P11332 = [cos x — cos (— y))? + [sin x — sin(—y]?
= (cos x — cos y)* + (sin x + sin y)?
= cos* x + cos*y —2 cos x cosy+sin®x + sin*y+ 2 sin xsiny
=2-2(cosx cosy—sinx siny) (3% ?)
aul, PP2 =[1—-cos (x+ )+ [0—sin(x + )]
=1-=2cos (x +y) + cos* (x + y) + sin® (x +y)

=2-2cos(x+y)

g4, PP, =PpP, elaul,
P1P32 = P2P42
214, 2-2(cosx cosy—sinx siny)=2—-2cos(x+y)

cos (x +y)=cosx cosy—sinx siny
4. cos(x—y)=cosx cosy +sinx siny
Mt 3 4y A oled — y ddl,
cos (x + (—y)) = cos x cos (—y) — sin x sin (—y)

.. cos (x —y) = cos x cos y + sin x sin .

m .
5. cos (E_ xJ = sin x

. ~ =~ T ~ -~ =~ e
[l 4340, x A oed 5 ¥yt ugd xddi,

T b . T,
cos| ——Xx|=cos — cos x+ s5ih — Sin Xx
2 2 2

= §in x

6. sin (%— xJ:cosx

My 5 urdl,
"5 el
sin| — x|=cos | — — x||=rcosx
2 2 2
7. sin(x+y)=sinx cosy+ cos x siny

2l el el 3,

sin (x +y) = cos (g—(x"')’)) = cos ([g—x)—y)

iT ) T i
=cos |57 cos y + sin E_x siny

=sinx cos y + cos x sin y
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8. sin(x—y)=sinxcosy—cosxsiny

Fldad 7 4l y A ole@ —p ¥sdl, 2uuea 1 uReuy va,

9. [ 3,4, 724 84l x i p <l 2sn Budl Ysal, 2uumi Al uReusl 4

cos [%"'x] =—sinx sin (g“‘) =cos x
cos (M—x) ==—cos x sin (k —x) =sin x
cos (L +x) ==cos x sin (t +x) =—sinx
cos (2n — x) = cos x sin (2n —x) = —sin x

sinx 27 cos x AL WRRWAMIAL GualoL 539 fam x, cof x, sec x A cosec x M2 YBL L % WslRAL uRRUAML

qoel wsiA.

10. %ix,y 1 (x +y) 4idl sy % Ul 21U AYAd U S, dl

tan x +tan y
+yY)y=T""""—
tan (x +y) 1-tan xtan y
~ . ~ ﬂ = - it =~
x, y 2 (x + p) Hiedl sidul 5 U AR L eleuddl cos x, cos y 2 cos (x + ) YR 4l

sin(x +y)

¢d, tan (x +y) = cos(x+ )

sin xcos y + cos xsin y

cosxcosy— sin xsiny

3 dUl Be cos x cos y A3 ML,

Sinxcosy N COSXSInYy

COSXCOSYy COSXCOsYy

+y)= —
tan (x y) CosXcosy Sinxsiny
COSXCOSY COSXCOSY
tanx+tany
- l—tanxtany
fan x —tan y
1 tan (X9 = 13 tan x tam y

Ftd 10 4Ly <L oled —y ddl,
tan (x —y) = tan [x + (— )]

tan x+ tan (—y) tan x —tany

~ l-tanxtan(-y) 1+ tanxtany H.
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12. % x,p ¥ (x +y) Wiell s6ueL - of8ld - S, dl

cotxcoty—1

cot (x+y) = cot y+cotx

X,y 2 (x + ) Hiell siSuRl ol oRid A glawell, sinx siny A sin (x + ) LAR 8.

&, cot (x+y)= cos (x + y):cosxr:os y—sinxsiny

sin(x+y) sinxcosy+cosxsiny
2§49 dUl Be sin x sin y 43 U2l

£+ ) cotx cot y—1
cot (x =—
y coty+ cotx

13, x,p ¥ (x— p) Hidl 516U 7 L AR - S, dl

cotxcoty+1

cot (x —y)=
> =) coty—cotx
M 124l y olgd —p Adi, 2R 210 uRRuy 3,

1-tan?x
1+tan’x

14. cos 2x = cos’x —sin*x=2cos*x—-1=1=2sin* x =
w1ueL el ¢l &,
cos (x +y)=cosx cosy—sinxsiny
yaoed x i,
cos 2x = cosx — sin’x
= cos?x — (1 — cos*x)
=2 cosx—1
i, cos 2x = cos?* x — sin*x
=1 — sin* x — sin® x

=1-2sin*x.

5 cos’x sin*x .
dal, cos 2x =cos*x—sin*x = — 5 U4
cCOos X+85mn X

{3 daUl He cos?x 43 AU,

1-tan?

- —lan x '\ T . [

ANMBH, cos2x= T3 I, x#Enn+—, B YRUS ©.
1+tan“ x 2

2tan x

. . N T .
15. sin 2x =2 sin x cos x = Hul, xinn+5,°a'€lln1g§lt3 8.

1+ tan® x
1l el ¢l 3,

sin (x +y) =sinx cosy + cos x siny
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y 6lgd x Adl 2RI, sin 2x = 2 sin x cos x HOL.

2sinx cos x

qul sin 2x = .
’ cos2 X+ sm2 X

3l dUl e cos?x A3 ML,

_ 2tanx
sin 2x = 1+ tan2 x
2tan x
16. tan 2x = 1—tan’x
w18l el el &,
tanx +tany
tan (x +y) = l—tanxtany
~ - . 2 tanx
yoed x Wi, ran2x=——— A
1—tan” x

17. sin 3x =3 sin x — 4 sin3x
e, sin 3x = sin (2x + x)
=sin 2x cos x + cos 2x sin x
=2 sin x cos x cos x + (1 — 2 sinx) sin x
=2 sin x (1 — sin®x) + sin x = 2 sin’x
=2 sin x — 2 sin®x + sin x — 2 sin’x
=3 sin x — 4 sin’x
18. cos 3x =4 cos’x -3 cos x

el cos 3x = cos (2x +x)
=cos 2x cos x — sin 2x sin x
=(2 cos?*x — 1) cos x — 2 sin x cos x sin x
=(2 cos®>x — 1) cos x =2 cos x (1 — cos?x)
=2 cos’x —cos x — 2 cos x + 2 cos’x
=4 cos3x — 3 cos x.

3tanx—tan’ x
1-3tan’x
tan (2x + x)

19. tan3x =

wél, tanm 3x

tan2x +tan x
1 —tan 2x tan x
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2tan x
P +tan x
_1-tan” x
-, 2tanx -tan x
-
1-tan” x
_ 2tan x +tan x — tan’x
1 - tan’x — 2tan’x
_3tanx - tan’x
1-3tan’x
x+y x—y
20. (i) cosx+ cosy= 2cos cos
. + . X-
(i) cos x—cosy =— 2sin 22 gin =Y
2 2
. X+ x—
i) sin x +sin y = 2sin =2 cos T
2 2
xX+y ., x-—
(iv) sin x —siny = 2cos Y sin Ty
24U8l 2Ll ¢l 3,
cos (x +y) =cos x cos y—sin x sin y - (1)
el cos (x —y) =cosxcosy+ sinxsiny - (2)
(1) 2 (2) <l AL 2 cleolls] Sl
cos (x +y)+ cos (x—y)= 2cosxcosy )]
e cos (x +y)—cos (x—y)=—2sinxsiny .. (4) A,
qull, sin(x +y) =sinxcosy + cos x siny - (5
e sin (x —y) = sin x cos y — cos x sin y .. (6)
(5) 241 (6) <AL AL A sleoitsl s3ql,
sin(x +y)+sin(x—y) =2sinxcosy . (7
e sin (x + y) — sin (x —y) = 2cos x sin y ... (8) Al

QRL S, x+y=0udx—y=0¢. 2l

O b -
x{ ;q)) i yz[ 2¢)

x Ay Al Y&l (3), (4), (7) 2 (8) Hi Y,

2

B+ 0 —
cosB+cos¢=2cos[ ¢Jms( o
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cos 8 —cos ¢ =—2 sin [9+¢)sin[9_¢]
2 2

4] 6 —
sin© +sin @ =2 sin [%ﬂl)ms [T(I))

. o 00} n (020
sin © — sin ¢ =2 cos [ 2 )sm( 2 )

aoll, © A ¢ 515 UL ARdAs AvqaAl glandl, U8 0 AL oled x wA ¢ L oed y Yl wslal.
2,

Xty Xy L, Xty Xy
cos : — =2 Sih———
2 2 5 COS X —COS Yy Sin 2 i

cos x + cosy =2 cos

. . Xty Y. . .
sinx + siny =2 sin ; Sinx —siny =2 cos

A8 20 Wi 2ta FaEl ool 23U, U8l {2 uRensl albid 530 adla
21. (i) 2cosxcosy=cos(x+y)+cos(x—y)
(i) -2 sin x siny = cos (x +y) — cos (x —y)
(iii) 2 sin x cos y = sin (x +y) + sin (x = y)
(iv) 2 cos x sin y = sin (x +y) — sin (x — y).
Gelg2e 10 ¢ AGid 52 3,
. T T . Sn id
3sin—sec——4sin——cot —=1
6 3 6 4
CEERETT R

S o6l = ?uu'nEsecE—4smS—TEcotE
S 6 3 6 4

o] (T
—3><2><2—4sm 6 x 1

Gelgel 11 : sin 15° < yeu, Al
Gia : wdl,  sin 15° = sin (45° —30°)

= sin 45° cos 30° — cos 45° sin 30°



=
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1 3

_ 1.3 1 \3-1
- 555

1
X
272 22

13 .
GeisaeL 12 ¢ ran ——= d ye 2Ll

- ) 131 n
Gsa ¢ wél, tan —=tan (’H'_]

L0 L0
tan——tan—
4 6

T T
1+ tan—tan—
4 6

Gergm 13 ulbid 53U 3,

sin(x+y) tanx+itany

sin(x—y) tanx—tany’

sin(x+y) _ sinxcosy-+cosxsiny

Ga: 2dl, o= sin(x—y)  sinxcosy—cosxsiny

249 dul B cos x cos y A3 ML,

sin(x+y) tanx+tany

sin(x y) tanx tany’
Gelgaml 14 : Ald 5A 3,
tan 3x tan 2x tan x = tan 3x — tan 2x — tan x
Gia : vl el A Y, 3x=2x+x
2w, tan3x=tan (2x +x)

tan2 x+tanx
. tandx———mM8M8M—

1—tan 2xtanx
., tan 3x — tan 3x tan 2x tan x = tan 2x + tan x
.. tan 3x — tan 2x — tan x = tan 3x tan 2x tan x

. tan 3x tan 2x tan x = tan 3x — tan 2x — tan Xx.
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=

Gelgam 15 ¢ wlid s 3,
cOS {%4‘)?]4‘605 [%—XJ:'\/E cosXx

B3a st 20() - GudlaL $3di,

= cos[E+xJ+cos[E—x]
dLoel = 4 4

T 1
=2 cos 1 cos x =2 X ﬁ cos x = \[2 cos x = %. 6l

cos Tx + cos 5x

: ) - =C0tXx
Gersam 16 :ldid sA 3, o -

Bia : Rdm 20 (1) 247 20 (iv) +l GualaL 53,

Tx+5x s?x—Sx

2cos co
L L = 2 2__ - orx = a
e Tx+5x . Tx—5x sin x T
2cos > sin >

- sin5x—2sin3x+sinx
Gl 17 b 5 3, =tanx
COS5Xx—cosx

sinSx—2sin3x+ sinx

B34 : ], 4ol =
cosS5x—cosx

sinSx+sinx—2sin3x

cosS5x—cosx

3 2sin3x cos2x — 2sin3x
—2sin3x sin2x

_ sin3x (cos2x 1)

sin3x sin2x

B 1-cos2x
sin2x

2sin’ x

2sinxcos x

= fanx = %. 6ll.
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AL 5 5 : (Ut 14l 4)

n T T
1. si® —+ cos® ——tan® —=——
6 3 4

1
2

3. cot’ E+cc.'s.<3ac5—T|:+3t¢tm2 r_ 6
6 6
5. [Bud sl
(i) sin 75° (ii) tan 15°
AL 52 3 :
' cos .E—x]cos[z— ]—sin .E—x]sin .E— =sin(x+y)
6 4 4 4 4 )" Y
tan [£+ x] 2
4 1+ tan x
7- - =
[TI: ] {l—tan x)
tan | ——x
4
o cos (L + x) cos '( —X) _ cot2x
sin (x —x) cos [%er)
3 3n
9, cos[?+x) cos (2n+ x) [cot[;—x)+cor (21+x)]=l
10. sin(n+ 1xsin(n+2)x+ cos (n+ 1)x cos (n+2)x =cos x
11. cos [%+x)—cos [3—:":—.1;) = —\/Esinx
4 4
12. sin? 6x — sin®4x = sin 2x sin 10x
13. cos?2x — cos? 6x = sin 4x sin 8x
14. sin2 x + 2 sin 4x + sin 6x = 4 cos? x sin 4x
15. cot 4x (sin 5x + sin 3x) = cot x (sin 5x — sin 3x)
cos9x cosS5x o sin 2x
16. sin17x — sin3x  cosl0x

sinS5x + sin 3x
—————— =tandx
cos 5x + cos 3x

4. 2sin® %t + 2cos

XL

n

2. 2sin? T + cosec? — cos? T g
6 6 3 2

—+2866‘2£=]0
4 3
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sinx — sin x—
sinx—siny _ = x-y
cos x+cosy

sin x + sin 3x

19 = tan 2x
* cosx+tcos3x

sin x — sin3x .
20, —5———— — 2sinx
Sin“x—cos“x

cos4x | cos3x | cos2x
21. - - - = cot3x
sindx | sin3x 1 sin2x

22. cot x cot 2x — cot 2x cot 3x — cot 3x cot x = 1

4tan x (1— tanzx)

1—6 tan’x + tan’x

23, tandx=

2

24. cos 4x =1 — 8 sin® x cos* x

25. cos 6x =32 cos®x — 48 cos*x + 18 cos®x — 1

3.5 Giaaflaa adlsen

Bustalfan @AdaA uisadl A Busial@lay 24ls280 sdeua, 1 [Rewdidl e 1xls i
G3e altlel. ugl 2lvil sl ¢l &, sin x 2t cos x L Badle yrade 2m doisl sidiaul an 8
el tanx <0l ey weRleldl oSl iaieadl s 9. oA Brsiilbilaa amlswidl
634 0 < x < 271 Ml €l dl A 3wy G3¢ (principal solution) sdad 8, BisiailHlan alselAl duiy

Bia wuadl wals n aoll wielsan Brsialilay a+Hlswinl cdius Gia sdeanu. YRils vt dLeid
‘27 ad euldly.

BusiiBilau uxHlswiAl 63a doadl {12l Gelewl Hee3u Yl :

. 3 = e
Gersam 18 ¢ wdls sinx — % AL 3uy B5a L.

A ~ ~ ., I ‘\/?: ~ 2z . . bid s T _ '\/§
Giet s gl onella ¢l 3, sin— = == A sin = —sm[ﬂ: 3) =sin ==~
T . 2T .
el ey Gia, x=2 i = 6.
1
Getgael 19 :udlsa ranx = N Byl wlHl.
Gyt - 28l el ¢l 3, tan— = 1 204, tan [11'. —E] - —an®--L
6 3 6 6 3

wid, tan(Zn: £)= tan= — L
6 6 3
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M Ians—n —tan&— L
’ 6 6 NED
5 . llz
219, Huy @3:61, ? A ? £9.

gd 2l Bustaflan alseil s Gia ikl

UEL 21210 AT QML 3,
%A\ sinx =0, ci\lx=mr., ne Z ¥ %\ cosx =0, cflx=(2n + l)g, ne Z WA 9.
g 28l 1A ulRewal ulbid 530y
uHa 1SS Ul airdl@s vl x Ay MR,
sinx=siny dine Z e x=nn+ (-1)"y.

alGdl : °b>l, sin x = sin y, dl

. . X+y . x—y
sinx—siny =0 284l 2cos > SmT =0
x+y xX—y
wel, cos =0 ¥4l sin 5 =0
N x+y n -y
Hle, T =2n+ 1)5 WYL T=mt, ne L

A Xx=C2n+ D) n—-y vUUx=2nn+y, nel

L x=Qn+ Dr+ (1) yuudlx =2nn H-1)>""y, ne Z.
2 of WRRUAHL AYsd Ad AUsBid S,

ne ZWex=nn+(=1)yd3 auil asa.

uHA 2 58S uel ardls vl x @A y MR, %l cosx=cosy di x=2nnty, ne L.

AL : %\ cos x = cos ¥, dl cos x—cosy=0,
x+y xX=y
- =2 sin sin =0
2 2
. x+y . X—
WM, sin =0 Y4l sin =0
x+y x=y
e = nw Y4l =nm, ne Z

x=2nn—y VYU x=2nn+y, nel

§WH, x=2nnty nel
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-

) = ) = T A
UHA 3 B 52 3 oL x 6y, 5 LBy ARt AL €1y, dll

tanx=tany§t*{,cflx=nn+y, ne Z

Aol : Altanx=tany Sd,dl tanx —tan y =0
SinXxcosy—cosxsiny _ 0
A CoS X COS y
L sin(x=y)=0 Gu )

.. X —Y=nm, -‘blurld,\x=m1:+y,ne Z.

3 = - = =
Bele2w 20 ¢ sin x =— % | G5 HaAal.
: 4
Giq : wél, sinx =— ﬁ = - smE = sc’n(rc+£) = sin—ﬂ
’ 2 3 3 3
L dr
¢, sin x= sm? yel,

x=nx+(—1)n%, ne Z.

e 4 = = =
|-.- A4 |sinx= —% TE) ?E B x Al g FEHd 8. sinx = —% iy ddl oflw 5195 Eud ua ad as.

e, qadl Bia s % 82 ug evlldl Ad Bt awll ad.

1 -
Gelsw 21 : cosx = 5 Gial.

Biel 1l cos x = % = cosg

3

. x=2mc-|_-§ ne 7.

Belgaw@ 22 ¢ tan2x = —cot [x+§) G3dl.

Bie A, tan2x = — cot [x-l—E) = mﬂ[E+x+E
3 2 3
%)
»Ydl tan2x = tan x+ v

5n
2x=nx+x+?, ne Z.

x—m:+E Z
6’ neZ.
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Gelsaml 23 ¢ sin 2x — sin 4x + sin 6x = 0 Gdl.
Gia o 2wl wlsW sinbx+ sin2x  sindx = 0 dld uLL @l AsA.
»YqL 2sindxcos2x  sindx =10
Qrtﬁlrld.\ sindx(2cos 2x—1)=0

) 1

sindx=0 2ydl cos2x= 5

T
sindx =0 w¥dl cos2x= 6055
T
4x=nx AU 2x= 2mti§, neZ
=2 wnyqr x =nat l Z
=— =nnt— nel.
4 6"

Gelsaml 24 : 2 cos?x +3sinx =0 B34l
Gia sl wllse 2(1- sinx)+ 3sinx = 0l w2 avil asi.

25£n2x— 3sinx—2=0
ved % (2sin x +1) (sin x—2) =0

1
N, sin x = ) NYAL sinx =2
uid, sinx =2 sy Yl G ?)
mx= —k = sin T=
sSinx 2 .
k.

w19l G3a x=na+(-1) o "€ Z.

AU AHLS2UAL oA A s Goe Al : (et 19l 4)
1.tanx = /3 2.secx =2
3. cotx= -3 4. cosec x = =2

U AHLSWAAL AUs GEa ML :

5.cos 4 x=cos 2x 6. cos 3x + cosx—cos 2x =0

7. sin 2x + cosx=0 8. sec? 2x = 1— tan 2x

O.sinx+sin3x+sins5x=0
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3.6 Sine ¥\ Cosine YAl AGdl 214 u0 Gua

WA 5 ABC 215 BslaL 8. vell A, »2d & slygil AB -l AC -l
vell 0° 2 180° 422 2udel © w4 Ul Wi-{lel, weusll B 2 C 21 %
WAL el 8. RRWGIEA C, A B «(l 13-l ol 2uddl ouog»il
AB, BC 21-L CA A i3 ¢, a 21 b o galdle. (30 2l 3.15.)

UHA 4 : (Sine Yot) 1S wal BraRil ougdl, duell A 2uda veuAL Sine

w
@]

AL uHRHL 8, 22d ¥ s ABC Al

sinA_sinB_sinC
a b c

AL = “1RL 3 3.16 (i) 244 (i) 4l sulda Busiemisdl 5185 21s Bisie ABC dl.

B B

B ]
A b C D A b D C

(@ (ii)
2u5d 3.16

RRAGE B &l sy AC A D i 0l ddl Ad a4 A 2l &, [(1) 3 A4 D H ¥4 d Ad AC 1 doudl 8.
215 3.16(i) -l stesiL Bisiel ABD urell,

. h S NN
smA:; ved 5 h=csinA Q)
) h R .
Ut sin (180°=C) = ;uaa% h=asinC )

(1) 24 (2) urH],

sin A sinC

csinA=asinC,ie., - 3)
d % WHIEL
sin A _ sin B A
p ) 4)
(3) 21 (4) wrell

sin A sinB  sinC

a b c
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25l 3.16 (ii) L BLstel ABC 12 d o usdl 1358l (3) i (4) 1.

UHU 5 1 (Cosine Yo) %L A, B A C BLsiei-il vRull € 2m @, b 2t ¢ 3 wtesi Rl A, B2 C <l 13-l

ouogaAl-l ot €1y, dl

a? =b%+c¢?=2bc cosA

c? +a®?>-2ca cosB

o
S
Il

c2=a?>+b*>-2ab cosC

Altidl : wRL 3 Bisl ABC sl 3.17 (i) Al (i) M e wiidl 9.

B

B
c
a h y, h a
[ 1
(1) (ii)
2usld 3.17
gl 3.17 (i) L Aol
BC? = BD? + DC? = BD? + (AC — AD)?
=BD? + AD® + AC*> =2AC-AD
= AB? + AC?-2AC-AB cos A
Yl a*= b*+ ¢ —2bc cos A
d % UHISL HUUEL,
b?> =c®>+a®-2ca cosB
s ¢c? =a®+b?—-2ab cosC Aadl udla,

21 Alsell 2l 3.17 (1) e wel qadl asiy, i, CIRA 8,
IR VUL AlHAlL €14 AR cosine Yoisi 1A WHIE, 250 13U 4 AsLY

b®> + ¢ -a’

cos A =
2bc
2 2 2
c +a” -b
cosB = ——
2ac
2 2 2
a +b" —¢
cosC = — —

2ab
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Gelganl 25 : BseL ABC Ml B 53 3,

—
2
=
I

3]
)
-
I

-
2
=
I

[
=]
-
|

-
2
=
I

[
1
-
|

Aleadl : sine U2,

a b c

= = =k (qRl)

sin A sin B sin C

b—-c k(sin B — sinC)
212, = ; ;
b+ ¢ k(sin B + sinC)

B+C . B-C

2cos sin

- B+C B -C
2 sin cos

cot (B +C) tan (B -©)

I
o
<
—
—
|:=|
|
M|D>
S
—
2
=
N
[wv]
|
~—

w2 m:mB_C—b_Ccoti
2 b+ c 2

d % wHigl oflod wRBLAML ABd 530 WsA. 241 uRRIML Napier «{l AMdlL dld weaid 6.

Gelgaml 26 : sidueL Bsel ABC Hi2 Abid 53 3,

asin(B=C)+bsin (C-A)tcsin(A-B)=0

Gq : 4],

a sin (B—C)=a [sin B cos C — cos B sin C]

N sin A sin B sin C

8d, = = = k (w3l %)

a b c

HI2, sin A = ak, sin B = bk, sin C = ck

(M
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sin B ¥ sin C < Hed (1) Hi Hsdll 247 cosine Yot-ll BUULOL S,

2 2 _ 2 2 2 _ 72
asin (B —C) = a bk(u} | et o)
2ab 2ac

=2£(a2+b2—r:2—c2—a2+b2)

= k(b? - ¢?)

d o WIS b sin (C—A) =k (2— &d)
w4 ¢ sin (A—B) =k (a*-b?
Wil SLoll. =k (B2—c2+2—a?+a?— b)) =0 =55l

Gelg2el 27: h Glaud-l [Rlede elar PQ <l 2l [Big P
LA Brguell Glusiel 45° x-A B Bigall Glusiel 60° 8.
oUl B | Al ¥k AB=d®. AB 2 AQ 18l 30° il v&il
oirlld 9. AUBLA $A 5 d=h(3-1).
Gia : aslel 3.18 uRedl, ZPAQ = 45°, ZBAQ = 30°,
Z/PBH = 60°

wesds  LAPQ=45° /BPH =30° 1, /APB =15°

2u4ld 3.18
aul, ZPAB =15° wdl ZABP =150°
Bisiel APQ urell, AP2= 12 + 12 = 212 G
2l AP =+/2h
A ABP i sine 3ol GudlaL 5dl,
AB AP
sin15°  sin150°
d A2n
" sin15°  sin150°
NeAdY  d- \/5“—‘"15
sin 30°
=h(/3-1 GH 2

Gerdael 28 : Bsielld wlie ABC l 6llgg AC L waulbiy M uR glal-l aieidl »udd 8, wiedl euy»l BC =7
W2z, CA = 8 ¥le: v+l AB = 9 3{le2 69, il uimcl [Big B 210100 15° Al vell id3 8. €lai-l aioens{l Glaus

454l S,
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Gia : 25 3.19WRAAB=9l=¢,BC=74=a¥1 AC=8=b.

-

AC <L Helolg M 8l 2 (MR 5) Gla2us-l [Reul uieiel
MP 2udel 8. $3, Wl § elet-ll aieldl B [Brgal 15° «L vl
§ld 8.

AABC Ml cosine AL GUELL 53,

T=a
2 2 2
a2+ b -2 49+64-81 2 1) »usld 3.19
7

2ab 2x7x8
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Historical Note

The study of trigonometry was first started in India. The ancient Indian Mathematicians, Aryabhatta
(476), Brahmagupta (598), Bhaskara I (600) and Bhaskara I (1114) got important results. All this knowledge
first went from India to middle-east and from there to Europe. The Greeks had also started the study of
trigonometry but their approach was so clumsy that when the Indian approach became known, it was
immediately adopted throughout the world.

In India, the predecessor of the modern trigonometric functions, known as the sine of an angle, and
the introduction of the sine function represents the main contribution of the siddhantas (Sanskrit astronomical
works) to the history of mathematics.

Bhaskara I (about 600) gave formulae to find the values of sine functions for angles more than
90°. A sixteenth century Malayalam work Yuktibhasa (period) contains a proof for the expansion of
sin (A + B). Exact expression for sines or cosines of 18°, 36°, 54°, 72°, etc., are given by Bhaskara II.

The symbols sin™ x, cos™ x, etc., for arc sin x, arc cos x, etc., were suggested by the astronomer
Sir John F.W. Hersehel (1813) The names of Thales (about 600 B.C.) is invariably associated with height
and distance problems. He is credited with the determination of the height of a great pyramid in Egypt by
measuring shadows of the pyramid and an auxiliary staff (or gnomon) of known height, and comparing the
ratios:

Al
S

Thales is also said to have calculated the distance of a ship at sea through the proportionality of sides
of similar triangles. Problems on height and distance using the similarity property are also found in ancient

h
= S tan (sun’s altitude)

Indian works.
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